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 الواجب الاول                                                                

 

1 – Document how language is actually used by its native speakers 

………….                                  

Descriptive Grammars                                                                                           

                                   

 

2 – Is the actual use of linguistic knowledge ……………                                     

                                   

Linguistic performance                                                                                          

                                  

 

3 – Language processing is subconscious, This means ………………                 

                                   

None of the previous items is correct                                                                

                                   

 

 

 الواجب الثاني                                                              

 

.                       ganised ………. in the brainLexical entries are or -1 

         

According to their meaning and sound                                              
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The tip of the tongue phenomenon mean .                                   -2 

                              

Remembering some details about a word, but not the word itself    

                              

 

ducted to       Lexical decision and priming experiments are con –3 

                              

Check peoples’ access to lexical entries                                           

                              

 

 

 الواجب الثالث                                                           

 

owing is not an indication that a Which of the foll –1 

communication system is based in the biology of its user                

                                                                          

Being made of sounds and symbols                                                 

                             

 

Aphasia is                                                                                     –2 

                            

nt following an injury to the brain                     A language impairme
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segmental information in the signal may include features -Supra –3 

like                      

                    Variation in duration                                                      

                             

Variation in pitch                                                                                

                            

                Variation in stress                                                              

                            


